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Lack of interoperability is a common roadblock to implementing new IoT technologies.
Which option best describes this roadblock?
 
 
A. Implementing new technologies requires new management techniques. 
B. Information transfer leaves users open to physical and legal vulnerabilities. 
C. Purchasing, deploying, and integrating new solutions involves significant costs. 
D. BYOD and IoT solutions must work with existing and future infrastructure. 
E. New technology must follow standard operating procedures. 
 

Answer: D

 

 

Which two ruggedized solutions make up the IoT-ready infrastructure ofthe Cisco
Connected Safety and Security solution? (Choose two.)
 
 
A. Cisco Video Analytics 
B. switches and routers with embedded network services 
C. open application ecosystem 
D. wireless infrastructure 
 

Answer: B,D

 

 

Which two options represent integrated IoE safety and security solutions? (Choose two.)
 
 
A. Cisco IPICS 
B. Cisco Video Surveillance Manager 
C. Cisco Collaborative Operations 
D. Cisco Connected Justice 
 

Answer: C,D
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